COJIbPE/DKHO. KPATKHH CIIPABOYHHUK AKKOP/IOB

B TABJIUI]AX.
4-5 Kkiaaccobl
CryrneHp AKKOpJIbI
VII Deé; YM35
VI S6
\% D35; D7; T46
IV S35
111 Té
11 D46
| T35; S46

4-5 kjaaccel
b35=63 +m3
M35=m3 +63
YM35=m3+m3
YB35=63+63
b6 =m3 + 44
M6 =63 + u4
b46 =44 + 63
M46 =44 + 3m
D7=63+m3+m3




6 KJ1acc

CryreHp AKKOpJIbI

VII De; D56; YM35

VI S6

\% D35; D7; T46

| AY S35; D2

11 To

11 D46; D34; YM35

I T35; S46

6 KJ1acce

b35=63+m3

M35=m3+63

YM35=m3+m3

YB35=63 +63

b6 =m3 +u4

M6 =63 + ud

b46 =44 + 63

M46 = ud + 3m

D7=63+m3 +m3

D56 =m3 + M3 +62

D34=wm3+62+63

D2=62+63+m3




7-8 Ki1acchl

CryrneHp AKKOpJIbI

VII Deé; D56; YM35; MVII7; YMVII7?
V1 S6; YB35 (rapm. mazxop); 1134

\% D3s; D7; T46; D9

IV S35; D2; 1156

111 Té6; YB35 (rapm. munop)

I1 D4e6; D34; YM3s5; 117

I T35; S46; 112

7-8 Ki1acchl

b35=63+m3

M35=m3+63

YM35=m3+m3

YB35=63 +63

b6 =m3 +u4

M6 =63 + ud

b46 =44 + 63

M46 = ud + 3m

D7=63+m3 +m3

D56 =m3 + M3 +62

D34=wm3+62+63

D2=62+63+m3

MVII7 =m3 + m3 + 63

YMVII7 =m3 + m3 +m3

bb7=63 +m3 + 63

BbM7=m3+63 + 63

MM7=m3+63 +m3

BYB7=63++63 + M3




